% 000 0 L0T 86 6 0 0 S ¢01 59 e asmo - 11
% 000 0 1 T 0 0 0 T 0 0 0 M4T-8
% 000 0 ZE S¢ S Z 0 < 0t 91 14" 8
% 000 0 Z8 TL g 0 0 Z 08 [44 8¢ §
% 000 0 9zZ 191 29 € 0 L 6TC 11T 80T SS-vb
% 000 0 9t £t €1 0 0 0 9 0€ 91 ASIHN - ¢
% 000 0 €8 65 vZ 0 0 14 6L [ LE 5SSk
% 000 0 SET €0T 43 0 0 1 PET L 29 12
% 000 0 e 11 11 0 0 0 er €1 6 ASIHN - V&
% 000 0 ST 1t 1€ € 0 S (1) 48 A €9 S5 - VE
% 000 0 56 09 43 £ 0 ' €6 65 e VE
% 000 0 6ST S0T 4 z 0 9 €ST 08 €L S5
% 000 0 SL 0S S¢ 0 0 T L SE 6t E
% 000 0 9El SoT 0€ 0 0 61 911 0L 9t SS- Ve
% 000 0 S€ LZ 8 0 0 1 vE LY LT ve
% 000 0 99 6t 91 T 0 8 85 134 S S
% 000 0 T1T Z8 6¢ 0 0 € 80T 29 9 Z
% 000 0 89¢ 691 86 1 0 9 292 [4 40 0z1 SS-VvI
% 000 0 0 0 0 0 0 0 0 0 0 MA1-T
% 000 0 Sri LTT 8¢ 0 0 14 1349 L8 ¥ 8S- T
% 00°0 0 4114 EST 144 S 0 ) L61 0T €6 L
S T A T !
f ;. 2 g a s ook R
% = - & & @
¢ f 5
@ §
m -+
T NOILISOdOYd SYX3l 40 31V1S
% 000 = 8E JO 0 - Z£ 40 T abeq 610Z/6T/TT ajeq uny
Guyaoday s10u12044 nIB. 6102/S8/1T Wd BirE iy uny
m —
> NOILD3T3 WVID3dS ANV TvdINID LNIOr UOHI8|3 [RIAUAS) IAGWIBAON BTOZ
SID10/ poadysiBay b
nsad [eRWO SYX3L ‘ALNNOD SNDIdOH s}|Nsay sseaue)

52999




% 000 0 £89E 9ELT 0z6 Lz 0 orT EVSE 9502 LBYT sjejol
% 000 0 11 6 4 0 0 0 4 S 9 M4 - 9t
% 000 0 €ET 06 184 4 0 3 OtT L8 134 9¢
% 000 0 Z 91 9 0 0 0 ({4 Z1 01 asid - se
% 000 0 6 SE 14" 0 0 Z Ly 1€ 91 T4
% 000 0 01 & £ 0 0 0 01 S S ASIHN - ¥
% 000 0 11T 99 144 E 0 [4 60T £9 9 e
% 000 0 9 18 €1 0 0 T £9 44 1z 14
% 000 0 60T £6 91 0 0 & z0t 99 9t asi - 0z
% 000 0 (44 4 6 i 0 0 &c ST L 0z
% 000 0 192 66T 29 0 0 1z ove 8€T Z0T ASIHN - LT
% 000 0 61 ) | L 0 0 Z LT 01 L L
% 000 0 S S 0 0 0 0 S € z aso -9t
% 000 0 8¢¢ LLT 514 Z 0 L |44 [ A L6 91
% 000 0 £ET 801 74 & 0 S 8zl L 9 vl
% 000 0 Lzt 68 8¢ 0 0 1 921 89 85 €1
% 000 0 69 85 11 0 0 i 89 14 174 4
% 000 0 ort 61T 12 0 0 9 peT €01 TE ALID-QSDD - 11
- o = m m > c - Jpoupald
g & 2 L g 2 g g g
g g g g § 5 m 3
p g g 9 g ok
A < @ < @ S
g g g 5 g 3 :
& q, & 5 5 . L
® @ ﬂ b .,
m m m ; Wy
@ &
o] a2
4
T NOLLISOdOYd SYX3l 40 31Vl1S
% 000 = 8€ JO 0 € J0 7 abed 6T0Z/61/TT ajeq uny
Bupoday s1ou1944 610Z/S/1T Wd 8P'E awil uny

% 00°0 = 0J0 £89¢

siI9j0 pasaysibay

ESTUECT R TR TTIT)

NOILD3T3 TVID3dS ANV TVH¥INIO LNIOS

SYX3L ‘ALNNOD SNDIdOH

U0I13|3 |RIAUIS) JOGUIBAON 6TOZ

s}|nsay sseaue)



% 000 0 L0T 86 6 0 0 9 10T LE 9 asp-11
% 000 0 T T 0 0 0 0 1 0 1 Mi1-8
% 000 0 Zt 14 S " 0 S 4 E€T 4! 8
% 000 0 Z8 L 11 0 0 € 6L 0¢ (1% S
% 000 0 9zZZ 191 29 £ 0 Gy ! 474 €L i SS-vb
% 000 0 o £e €T 0 0 14 (474 6T 114 QSIHN - ¥
% 000 0 £8 6S vz 0 0 14 6L i Zs SS-¢
% 000 0 SET €01 43 0 0 13 431 8s L ¥
% 000 0 f44 EE 11 0 0 0 [ v 81 ASIHN - VE
% 000 0 SYT T1T 1€ £ 0 S ovt 0s 06 SS-VE
% 000 0 56 09 it € 0 L 26 oy 28 Ve
% 000 0 65T SOt Zs & 0 [ 4 Lyt 144 £01 SS-E
% 000 0 SL 0§ 14 0 0 0 SL 61 95 £
% 000 0 SET S0tT 0t 0 0 1z vit 134 L SS -V
% 000 0 St Lz 8 0 0 T 143 91 81 Ve
% 000 0 99 (3% 91 1 0 11 ss ST oy 5552
% 000 0 11t Z8 62 0 0 14 L0T cE SL Z
% 000 0 89¢ 691 86 j 0 LI JAT4 SO0t ¢St SS -¥1
% 000 0 0 0 0 0 0 0 0 0 0 M-
% 000 0 Sr1 LTT 8¢ 0 0 14 vt sS 98 S8+ T
% 000 0 20¢ £ST 144 S 0 8 61 L 0Z1 3"
g & g g £ 3 w S g
g = & g H < PR
8 - - | z £
s Q .
Z NOLLISOdOYd SYX3L 40 3LVLS
% 000 =8E400 Zf£ Jo € abed 6102/61/11 aleqg uny
Buioday s30ui2aid 6T02/S/IT Wd 8rE swj uny
S0 1258 NOILLD3T3 VID3dS ANV Tv¥INID INIOf o9l [eIee el AR

1910/ pasdysibay

SHNS24 [P0 SVX3L ‘ALNNOD SNDIdOH s3ynsoy sseaus)




% 000 0 €89¢E 9ELT 0zZ6 Lz 0 102 [4:1 43 9TET 991¢ s|eyol
% 000 0 11 6 4 0 0 0 T 14 L M4 - 9¢
% 000 0 £ET 06 144 Z 0 [ 0Et 89 29 9t
% 000 0 44 91 9 0 0 T 1z 1] 8 11 Qasis=5¢
% 000 0 6t SE 14" 0 0 Z LY 0€ &L S¢
% 000 0 0t L 13 0 0 0 0T L £ QSIHN - ¢
% 000 0 111 99 1474 T 0 T 011 (4] 8S 74
% 000 0 9 18 €T 0 0 ! €9 Zt 1€ £2
% 000 0 60T £6 91 0 0 8 101 e L9 asn - 02
% 000 0 (4 1 6 T 0 0 eC 0T cr 0z
% 000 0 T9¢ 661 29 0 0 LE vee 29 291 QSIHN - LT
% 000 0 6T 4 i 0 0 T LT 4 4 9 LT
% 000 0 S S 0 0 0 0 S 0 S asiod-91
% 000 0 8Z¢ LLY 6 Z 0 8 0ze L 1341 91
% 000 0 £€E€T 80T ve T 0 9 LZT Ly 08 14t
% 000 0 L&Zi 68 8¢ 0 0 < szt 15 vL €1
% 000 0 69 85 1 0 0 £ L9 LZ ot et
% 000 0 (1)1 61T 114 0 0 11 62T or 68 ALID-ASID - 11
- o = m m > {30 i, PuPal
5 @ g 2 > z 5 g g -
o o 3
o 0 i = <
=4 ® 2 8 5 & m
o x o = .
3 : & g 3 s
3 o & 5 g ) I S
o m 7 =3 B 1<}
e a @ g
€ § g
& o
0 2
m o
Z NOLLISOdOdd SYX3il 40 11V1S
% 000 =8£J00 Z€ Jo 1 abeq 6102Z/6T/11 ajeq uny
Buipioday syoupalg 610Z/S/1T Wd BYE awi] uny
% 000 = 040 £89¢
> ; NOILD3I13 TVID3dS ANV TVHINID LNIOr 1233 [BI5USD) JBGUIBAON BTOZ

sI3)0A paieisibay

s)Nsa4 [eRYO SYX3al ‘ALNNOD SNDIdOH 59} Sseaue)




% 000 0 L0T 86 6 0 0 L 00T €T L8 asp-11
% 000 0 T T 0 0 0 0 T 0 T M4 -8
% 000 0 [43 T4 S 4 0 Z 0€ ¥ 9z 8
% 000 0 8 1L 11 0 0 14 8L 8 0L S
% 000 0 9zZ 191 29 € 0 6 L1 0z 161 SS-vb
% 000 0 9% €€ ET 0 0 T 114 S or ASIHN - ¢
% 000 0 £8 6S vz 0 0 9 LL EF 9 SS=b
% 000 0 SET €01 F4 0 0 s £ET . 11 v
% 000 0 ZZ 11 1T 0 0 0 & 1 12 ASIHN - V&
% 000 0 Sv1 111 1€ € 0 L 8ET ST (T4 SS-vE
% 000 0 S6 09 43 € 0 9 68 6 08 VE
% 000 0 651 S0T Zs Z 0 8 18T 91 GET SS-¢
% 000 0 SL 0s Sz 0 0 0 SL 8 L9 £
% 000 0 SET SOT 0€ 0 0 4 £1T Ll 96 SS-vie
% 000 0 13 LZ 8 0 0 0 SE 9 6C Ve
% 000 0 99 (34 91 T 0 8 8S 11 Ly SSeE
% 000 0 I11 8 62 0 0 14 L0T LT 06 Z
% 000 0 892 69T 86 T 0 6 652 9¢ [ X44 SS- VI
% 000 0 0 0 0 0 0 0 0 0 0 M-T1
% 000 0 SP1 T4 3 8¢ 0 0 0T SET 61 91T 85T
% 000 0 20z €ST (44 S 0 A 002 vz 9L1 T
- o et m m b Jpuneid
g g 3 g g B g g
& = 23 B o 2
m z W < 2 <
p] a S § 5 <
a < @ < =] S
& & g g H
Q < . 3 & @
£ & g
g # &
@ &
«Dl--_ p49
]
€ NOLLISOdO¥d SVX3L 40 3LVLS
% 00°0 = BE 40 0 € 40 G abeg 6102/61/11 ajeg uny
Bunsodoy s3audal 610Z/S/1T Wd 8F'E awi] uny
% 000=0jJ0¢8
iz NOILLD313 WD3dS ANV TWHINID LNIOf Lol [e18Us IBGUWAAON BT0Z

SID0A paldysibay

s)nsal [ePIHO SYX3L ‘ALNNOD SNDIdOH s3|nsay sseaue)




% 000 0 £89¢€ 9ELT 0zZé Le 0 881 S6VE 99¢ 620€ sjejol
% 000 0 1T 6 Z 0 0 0 1t Z 6 MAT - 9¢
% 000 0 EEL 06 v 4 0 14 6CT 8T 111 9¢
% 000 0 44 91 9 0 0 1 i 74 3 81 asid - se
% 000 0 (4 SE 14" 0 0 € 14 8 8t S
% 000 0 0t L £ 0 0 0 0T 0 0T QSIHN - ¥
% 000 0 3T 99 144 T 0 1 01T 51 66 ve
% 000 0 9 149 €1 0 0 0 9 St 6 £z
% 000 0 60T €6 91 0 0 9 £0T 01 €6 asio - 0z
% 000 0 Z Zt 6 T 0 0 Zc 9 91 0z
% 000 0 19¢ 661 9 0 0 1€ 0€g 62 102 QASIHN - LT
% 000 0 61 4 L 0 0 (4 L1 S z1 LT
% 000 0 S S 0 0 0 0 S 0 S asmo -9t
% 000 0 8¢c LLY 6t e 0 9 CoC 9C 961 91
% 000 0 €E€T 80T 4 L 0 9 LZT oc 101 14t
% 000 0 Lzt 68 8€ 0 0 14 €21 91 L0T €1
% 000 0 69 8S 11 0 0 (e L9 6 85 ct
% 000 0 or1 611 574 0 0 ST Szt 61 901 ALD-ASDD - 11
= x - m m 6 > JPupeld
A SR S S S A g & ¥
[=] n N =g il 3 W g =
5 : g 2 g B g & '
3 e 2 g & s Pl
Q w -J
3 = e s g 5  fy
@ m a = s w 3
® 3 & 2
@ g
0 A
a
€ NOLLISOdOdd SYX3l 40 31V1S
% 000 = BEJO 0 Z€ 40 9 9beg 610Z/61/1T aleg uny
Guipoday s1uPasd 6102/S/TT awi) uny
% 00°0 = 040 £89¢
T NOILD313 1VID3dS ANV TVYINID LNIOI UONI3|3 (BJDUO) JBGUIBAON BTOZ

1910/ paaoysibay

s3nsaJ [eRiyo SvYX3lL ‘ALNNOD SNDIdOH S}|Nsay sseaue)




% 000 0 L0T 86 6 0 0 9 10T 91 S8 asp- 1t
% 000 0 il i 0 0 0 0 1 0 T M4 -8
% 000 0 g€ T4 S 4 0 0 cE L T4 8
% 000 0 Z8 1L 1T 0 0 T 18 4 6L S
% 000 0 9¢e 191 29 13 0 L 61C 6Z 061 SS-vb
% 000 0 9 €€ €T 0 0 T 17 £ [474 QSIHN - ¢
% 000 0 £8 65 vz 0 0 £ 08 T 69 SS-¢
% 000 0 SET £0T 43 0 0 z €E€T S 871 b
% 000 0 ZZ 5 it 0 0 0 [ 4 4 8T QASIHN - VE
% 000 0 SPT TET 1€ £ 0 € rt 81 vt SS=NE
% 000 0 S6 09 Z€ € 0 1% Z6 55 18 YE
% 000 0 6ST SOT Zs Z 0 9 137 8z T4 8 SS-¢
% 000 0 SL 0s 14 0 0 0 SL SI 09 €
% 000 0 SEl S0T 0¢ 0 0 e £1T Lz 98 SS-ve
% 000 0 SE LT 8 0 0 0 SE 4 €€ ve
% 000 0 99 6t 91 y? 0 S 19 91 114 55T
% 000 0 11T Z8 62 0 0 Z 60T 1 86 4
% 000 0 89¢ 691 86 T 0 S £9¢ 134 02¢ SS-Vv1
% 000 0 0 0 0 0 0 0 0 0 0 M-T
% 000 0 SPT LEE 8z 0 0 S ort 12 611 55T
% 000 0 20z €91 142 S 0 1 102 €C 8L1 I
=l x - m m jegy Pudeld
s § i f & F = R f
] 2 = g < 2 I M 5 ]
L] ] o =2 <
a < G < @ b |
o o M.J - @ =
= o w ] 2 ..W
& @ E4 g -] @
@ @ m.... &
R T
a g
ﬂw -
a
¥ NOLLISOdOdd SYX3l 40 31V1S
% 000 = 8€ 400 Z¢€ Jo £ abeg 610Z/6T/1T ajeq uny
Bupsodoy s3auidald 6T10Z/S/1T Wd Bt'E auwl] uny
% 000 = 040 £89¢
e NOILLD3T3 TVID3dS ANV TVHINID LNIOS UOI123|3 [RIDUDS) JAGUIBAON BTOZ

s1930 pasaysibay
s}|nsa4 |epoO SYX3Ll 'ALNNOD SNDIdOH S}nsay sseaue)




% 00°0 0 €£89€ 9ELT 0Z6 Lz 0 LZT 9SSE £9Y €60€E s|ejo)
% 000 0 9 6 Z 0 0 0 It 0 11 M41 - 9¢
% 000 0 €eT 06 i Z 0 ¥ {3 ST LT1 9t
% 000 0 ot 91 9 0 0 0 &L I 0z asmo - s¢
% 000 0 (1% SE vl 0 0 0 6¥ 14 St T4
% 000 0 01 L € 0 0 0 01 T 6 QSIHN - ¥2
% 000 0 111 99 L 44 T 0 T 60T 0t 66 ve
% 000 0 ¥#9 18 £1 0 0 1 €9 L 95 €2
% 000 0 60T £6 91 0 0 L 20T vl 88 asio - 0z
% 000 0 4 4 Zl 6 T 0 0 44 14 8T 0z
% 000 0 192 66T 29 0 0 14t LvZ 8¢t 602 QSIHN - LT
% 000 0 61 (43 L 0 0 0 61 T 81 LT
% 000 0 S S 0 0 0 I 14 0 4 asp -9t
% 000 0 8¢¢ LLT (34 Z 0 9 (444 (174 202 9T
% 000 0 gel 801 vZ 1 0 Z T€T ET 811 1
% 000 0 L2t 68 13 0 0 £ vzl 11 €11 L
% 000 0 69 8S 11 0 0 L 89 € 59 41
% 000 0 (4741 61T i 7.4 0 0 L1 €21 8Z S6 ALID-AQSD - T1
= - = m - > c » PuPaig
= W .
3 ¢ g 8 3 g ] ) g
g g g g 5 i g g
> a S g -3 < 3 B
A < ® < a S
3 g 0 < @ g ;
§ E 4 g ¢ 3 P8 iy
3 N a @ g _ §
g g g i
& 0
o a :
o i
¥ NOLLISOdOdd SYX3l 40 31V1S
% 000 =8£400 Z£ jo g abeg 6T0Z/6T/1T ajeqg uny
Buniodoy s1oupalg 610Z/S/TT Wd 8i:€ awll uny
% 000 = 0JO £89¢
4 NOILDITT TVID3IdS ANV TVHINID LNIOTr U0I)73(3 [BIBUDS) JAGWIBAON BTOZ

s10 paisysiboy

s)Nsa4 [ePYO SYX3l ‘ALNNOD SNDIdOH S}|nsay sseaue)




% 000 0 LOT 86 6 0 0 L 001 6 16 aspo-11
% 000 0 1 T 0 0 0 % 0 0 0 M4 -8
% 000 0 43 T4 S Z 0 Z 0€ £ Lz 8
% 000 0 Z8 1L 145 0 0 T 18 S 9L S
% 000 0 9z¢ 191 29 € 0 14 [444 ST L0Z SS-vb
% 000 0 9% 113 £1 0 0 1 Sy € a4 QSIHN - ¢
% 000 0 £8 65 vZ 0 0 £ 08 4% 89 S5
% 000 0 SEl £0T 4 0 0 £ ZET 6 €21 14
% 000 0 v 11 11 0 0 0 (44 T TZ ASIHN - VE
% 000 0 ST 111 1€ £ 0 £ F4 48 (4 4 0fT SS- vt
% 000 0 S6 09 € £ 0 T 6 9 88 VE
% 000 0 6ST SOT Zs 4 0 9 €61 6 1 SS- ¢
% 000 0 SL 0§ T4 0 0 0 SL 6 99 £
% 000 0 SET S0T 0f 0 0 61 911 81 86 SS-VvZ
% 000 0 113 ird 8 0 0 T 143 € 1€ ve
% 000 0 99 6¥ 91 T 0 8 8% L 18 sS-¢
% 000 0 111 Z8 62 0 0 Z 60T 6 00T 2
% 000 0 897 691 86 T 0 L 192 8¢ £€Z SS-Vv1
% 000 0 0 0 0 0 0 0 0 0 0 MA1-T
% 000 0 Sv1 LT1 8C 0 0 S (o148 T 6Z1 ST
% 000 0 202 €ST 144 S 0 Z 00Z Zt 891 1
= o = m m b by €l Pudald
[ 4 (o] W ¥ o - H
3 g g 8 3 1 g m g g
g o £ g s 7 w : g g
pd 2 g o s < 8 )
2 g 0 s ? g el 1
& @ 4 g g 5
a @ @ &
] & :
£ & g
@ a
0 a
2
S NOLLISOdO¥d SYX3L 40 3LV1S
%000 = 8£ 400 Z€ 40 6 abed 610Z/6T/11 ajeq uny
Busoday s3ou12d.ad 6102/S/1T Wd Bt€ awl] uny
000 = 0 40 £89¢
M0 0I5. 683 NOLLD313 TVD3dS ANY Tv¥INID LNIOf YOI [E18UBS JBAWBAON BTOZ

S1010A paidysibay

$3|nsaJ [eRILO SYX3L1 ‘ALNNOD SNDIdOH s)|nsay sseaue)




% 000 0 £89€ 9ELET 0zZ6 Le 0 SET 8VSE LEE I1ZE s|ejo)
% 000 0 11 6 Z 0 0 0 I1 0 It M4T - 9¢
% 000 0 £ET 06 1874 /4 0 E O€T £ LTL 9€
% 000 0 44 91 9 0 0 0 44 Z 0z asi - s¢
% 000 0 6t SE 49 0 0 T 14 11 LE SZ
% 000 0 0t i £ 0 0 0 01 14 9 QSIHN - ¥¢
% 000 0 Tt 99 1474 ik 0 1 01T 9 0T e
% 000 0 9 18 €1 0 0 1 €9 6 2] £
% 000 0 60T €6 9T 0 0 9 €01 4 10T asin -0z
% 000 0 Zc z1 6 1 0 0 it S LT 0z
% 000 0 19¢ 661 29 0 0 ZZ 6€C 6T 0z QSIHN - LT
% 000 0 61 ' 8 /i 0 0 T 8T 0 81 Ll
% 000 0 S S 0 0 0 0 S 0 S asmo -9t
% 000 0 8¢ LLT 6t Z 0 14 (44 1z €0Z 91
% 000 0 €ET 801 vz 1 0 € 0€T LT eTl 4
% 000 0 Lzl 68 8¢ 0 0 4 T4 8 6 911 €1
% 000 0 69 8§ % 0 0 0 69 1 89 Z1
% 000 0 (1129 611 1z 0 0 ST 14 L% 80T ALDD-ASDD - 11
= x - m m > v Jouldald
: & & & 3 ¥ g g€ 7
g & ] S 5 2 g g
5 3 z g 3 §
W. =] m - < 1
2 < @ < @ ) k
o S o < @ =2 4 i
3 o Q o 2 He
[ - a4 g 5 o m
? a @ g X
g m g
@ g
m —-
S NOILISOdOdd SYX3l 10 31V1S
%000 =8€400 Z€ 40 01 9bed 610Z/61/1T sieq uny
Bunuoday s3ouiaasg 610Z/S/1T Wd 8t'€ AUl uny
% 000 = 0J0 £89¢
i R NOILLD313 TVID3dS ANV Tv¥INID LNIOf Uoi1o13 1810UR0 RABAN ETOZ

oA paieysibay
s}|nsaj [ePIHO SYX3Ll ‘ALNNOD SNDIdOH s}|nsay sseaue)




% 000 0 L0T 86 6 0 0 6 86 £€ S9 asD =Tl
% 000 0 I E 0 0 0 I 0 0 0 Md1-8
% 000 0 43 St . 4 0 3 6Z 48 LT 8
% 000 0 z8 1L T 0 0 £ 6L 144 SS S
% 000 0 9zz 191 29 € 0 €T €12 1L 441 SS- Vb
% 000 0 9 €€ €1 0 0 0 9 il 62 QSIHN - ¥
% 000 0 €8 65 144 0 0 ¥ 6L SE 44 SS-v
% 000 0 SET €01 43 0 0 [4 €€T 09 €L 2
% 000 0 Tz 11 11 0 0 0 zZ 8 14 ASIHN - V&
% 000 0 S¥T 111 1t € 0 ¥ Wi 144 L6 SS - VE
% 000 0 S6 09 43 € 0 L 88 8¢ 0s Ve
% 000 0 6ST SOt Zs T 0 43 Lyl v S0T S5=t
% 000 0 SL 0S 14 0 0 T vL T4 6t £
% 000 0 SET S0t 0€ 0 0 12 1418 oy vL SS- Ve
% 000 0 SE Lz 8 0 0 0 SE €2 [ Ve
% 000 0 99 6t 91 T 0 ot 9s 91 ov §5-2
% 000 0 111 Z8 62 0 0 € 801 144 ¥9 Z
% 000 0 89¢ 691 86 1 0 9 9z 96 991 58 <V
% 000 0 0 0 0 0 0 0 0 0 0 MAT-T
% 000 0 St1 LTT 8z 0 0 9 6ET 184 86 S5 T
% 000 0 2oz £ST 144 9 0 9 96T vL (441 1

m. ,M m W: ,mﬂ. W ; M m ,m.. }upPald

S S A S S s § ¢

g < & g 3 5 & &

% ’ : a & g il

& g
m a
9 NOLLISOdO¥d SYX3l 40 3LV1S
%000 =8€400 Z€ Jo 11 abed 610Z/61/11 ajeq uny
Buipoday s3oupaad 6T0Z/S/1T Wd BFE WL uny

% 000 = 040 £89¢

S19)0A paimsibay

s3|nsaJ |20

NOILD3 13 TVIDIdS ANV TVHINID INIOf

SYX3L ‘ALNNOD SNDIdOH

u01133|3 |RIPUAS JAqUIBADN 6TOZ

s)|Nsay sseaur)



% 000 0 £89¢ 9ELZ 0ze Lz 0 1114 TLVE OTET 91z sjelol
% 000 0 11 6 & 0 0 0 i 8 € 8 M4 - 9t
% 000 0 €ET 06 1174 & 0 3 0€T S9 59 9€
% 000 0 zZ 91 9 0 0 1 Iz Z1 6 asp - se
% 000 0 6 SE 14" 0 0 0 514 I 9z LT
% 000 0 01 L 13 0 0 T 6 8 T QSIHN - ¥#Z
% 000 0 111 29 144 T 0 € 80T 2] ¥S e
% 000 0 ¥9 18 €1 0 0 14 09 0z ot £C
% 000 0 60T £6 91 0 0 (4 L6 123 ¥9 asio - o¢
% 000 0 T (48 6 T 0 0 44 4 01 0z
% 000 0 19¢ 66T 29 0 0 o 4 4 ¥S L91 QASIHN - LT
% 000 0 6T <t L 0 0 4 LT 9 11 LT
% 000 0 S S 0 0 0 0 S 1 14 asp - 91
% 000 0 8¢¢ LLY 514 Z 0 6 61¢ £6 9zt 91
% 000 0 €ET 80T 24 T 0 8 T4 S9 09 14
% 000 0 LZ1 68 8¢ 0 0 1 9Z1 65 L9 €1
% 000 0 69 89 1T 0 0 T 89 12 Ly z1
% 000 0 ort 61T 1z 0 0 ST L 8t L8 ALDD-QSID - 1T
g & 2 g 5 3 g g
3 S g g ) 5
g 2 g 5 g &
S S
- f 2
& e
m g
9 NOLLISOdOdd S¥X3l 40 1LVLS
%000 =8£J00 ZE Jo Z1 9bey . 6T0Z/6T/TT ajeq uny
Bunsoday s1aunalg 610Z/S/1T Nd BiE awl uny
S R NOILD313 VID3dS ANV Tv¥3INID LNIOT LORa[] |EIBUBS JBGUIAAON 6T0Z

SINOA paiaysibay

s})|nsai |epiyo SYX3l ‘ALNNOD SNDIdOH S}NSayY sseaue)




% 000 0 L0T 86 6 0 0 S 20T 6C €L asp-11
% 000 0 T T 0 0 0 0 T 0 T M31-8
% 000 0 43 114 S [4 0 3 6¢ 01 61 8
% 000 0 8 1L 11 0 0 T I8 81 £9 S
% 000 0 9z¢ 191 29 = 0 11 S12 Ly 89T SS- vt
% 000 0 1 £E €T 0 0 4 124 11 €€ QSIHN - ¥
% 000 0 £8 65 ve 0 0 S 8L LT 19 SS=F
% 000 0 GET €01 43 0 0 S 0ET 43 86 b
% 000 0 ZC 11 11 0 0 0 [44 £ 6T ASIHN - V£
% 000 0 Sl 111 133 13 0 14 1wt ov 10T SS - vE
% 000 0 S6 09 43 € 0 14 16 £ 89 Ve
% 000 0 6ST S0T Zs (4 0 01 6v1 £2 91 Lot
% 000 0 SL 0s T4 0 0 1 L 0z S 3
% 000 0 QET SOT (113 0 0 174 STt 9z 68 SS - V¢
% 000 0 13 £z 8 0 0 0 SE 5 4 Ve
% 000 0 99 (Y4 91 T 0 01 9s 8 214 SS-2
% 000 0 111 8 62 0 0 € 80T 12z L8 ¢
% 000 0 89¢Z 691 86 T 0 49 962 8S 861 i |
% 000 0 0 0 0 0 0 0 0 0 0 MIT-T
% 000 0 Skt LTT 8¢ 0 0 L 8ET 143 L0T hYEI 5
% 000 0 c0z €ST 144 S 0 it S6T s i T
=t o = m m > [ n Ppumnald
W H
r & B R4 H R DA
g & g g s 2 : -y g
o o = 2 ® 8 m
® g o m 3 < @
A < @ < @ 9 o
e =} o < @ & ;
g 2 2 2 = @
? ™ 3 @ e :
w a -
4 m +
ﬂ-; -
-+ §
L NOLLISOdOYd SYX3l 40 1LV1S
9% 000 = BEJO 0 Z¢€ 30 €1 9begd 610Z/6T/TT ajeq uny
Gupaoday sjoualy 6T0Z/S/1T Nd BFE ALl uny
% 00°0 = 00 £89¢
qnEadt NOILLDI13 VID3dS ANV TWHINID LNIOS Uol120(3 EI15UBE BAUIBAON GTOZ

SI3JOA paisysibay

s}nses [P0 SYX3Ll ‘ALNNOD SNDIdOH S}|nsay sseaue)




% 00°0 0 £89¢ 9ELZ 0Z6 Le 0 1219 66VE z98 LEIT s|ejo)
% 000 0 %4 6 Z 0 0 0 i K 4 L M4 - 9¢
% 000 0 £€ET 06 1874 4 0 4 621 18 8L 9¢
% 000 0 44 91 9 0 0 1 1z 9 119 asio - sz
% 000 0 6v SE 149 0 0 0 6¥ vZ T4 T4
% 000 0 01 L £ 0 0 0 01 L £ AdSIHN - 2
% 000 0 ITT 99 (24 ik 0 T 011 1€ 6L T
% 000 0 9 18 £T 0 0 & 29 £T (974 134
% 000 0 60T £6 91 0 0 L 20T T4 LL asin -0z
% 000 0 44 Zl 6 i i 0 0 t44 ST & 0z
% 000 0 192 66T 29 0 0 1€ (0] 4 6€ 161 QSIHN - LT
% 000 0 61 cT i 0 0 T 8T £ St LT
% 000 0 S G 0 0 0 0 S 0 S asn -9t
% 000 0 8¢¢ LLT (514 Z 0 /4 12¢ 85 £91 91
% 000 0 €ET 80T v K 0 L 9Z1 43 6 14
% 000 0 fx4s 68 8¢ 0 0 £ vzl 143 06 €1
% 000 0 69 8S 1T 0 0 1 89 1 12 1
% 000 0 or1 61T ; 0 0 6 TET vZ L0T ALID-AQSDD - 11
g & g g 5 2 : s g
% & & g -d < kit 0
® ’ 3 & g
b
b Q i
0 4
2 ;
L NOLLISOdOYd SV¥X3L 40 3LVLS
%0070 = 8£ 40 0 Z€ 4o p1 9beyg 610Z/61/11 ajeq uny
Buoday s3audag 6T02Z/S/TT Wd 8r'E aull] uny
BP0 G 0IRSR0¢ NOILD373 WD3IdS ANV Tv¥INID LNIOS Lo eI UAG BAMAOR RLnA

SI9)0A palaysibay

s3|nsa4 |20 SYX3il ‘ALNNOD SNDIdOH S}|nsay sseaue)




% 000 0 L0T 86 6 0 0 /4 001 LE €9 asp-1t
% 000 0 T T 0 0 0 0 T 0 T M4 -8
% 000 0 4 T4 S 4 0 4 8z 149 T 8
% 000 0 8 TL {5 § 0 0 S Ll vz £S 9
% 000 0 9z 191 29 € 0 v [4 ¥4 Zs 091 SS-vb
% 000 0 9¢ 137 £T 0 0 Z 144 41 0t ASIHN - ¢
% 000 0 £8 68 e 0 0 8 SL 81 LS SS-¢
% 00°0 0 GET €01 € 0 0 i 8Z1 12 6 4
% 000 0 ZZ 1T 1T 0 0 0 i 4 8 v1 dSIHN - VE
% 000 0 SP1 IT1 1€ € 0 L 81 183 L0T SS - Ve
% 000 0 S6 09 Z€ € 0 £ Z6 62 £9 VE
% 000 0 6ST SOT Zs G 0 11 5148 0€ 811 §SS-¢
% 000 0 SL 0s 14 0 0 t L ¥T 09 £
% 000 0 SET S01T 0f 0 0 0z STT 114 06 SS-vit
% 000 0 St LZ 8 0 0 T 143 ST 6T ve
% 000 0 99 6F 91 1 0 ot 95 €T 134 gS~ T
% 000 0 1T 8 62 0 0 S 90T 14 18 4
% 000 0 89¢ 691 86 i 0 i 192 08 181 SS-vIl
% 000 0 0 0 0 0 0 0 0 0 0 MAT1-1
% 000 0 SP1 LTT 8¢ 0 0 11T pET 8¢ 96 SS-1
% 000 0 20z £ST 144 S 0 4 861 18 Lyt 1
- - = m m » JouBld
g g 5 ¥ g g ] g
g & g g s z 5 2
v 2 5 o g . g
m < w £ =] s X
o 0 < w 2
3 ] o g B &
w a - & o
® I a g
& o ; 5
8 NOLLISOdO¥d SYX3Ll 40 31V1S
% 000 =8BE400 Z£ Jo 51 abey 610Z/6T/1T |leg uny
Buipoday s3dupalg 610Z/S/1T Wd 8P.E |swi| uny
% 00°0 = 040 £89F
P NOILLD313 VID3dS ANV Tv¥INID LNIOf Lo1i3o15 (GI3IBGy HBGHIMMENRT 07

SI9)op paidysibay

S$)NSa [ePO SYX3L ‘ALNNOD SNDIdOH synsay sseaued)




% 00°0 0 €89¢€ 9ELZ 0Z6 Le 0 627 14147 096 14344 s|ejol
% 000 0 11 6 < 0 0 0 11 C 6 M4 - 9¢
% 000 0 €Ll 06 184 [ 0 S 8z1 184 L8 9¢
% 000 0 o A 9T 9 0 0 Z 0z 6 14 asp - sz
% 000 0 6t SE 4" 0 0 ' Ly Le 9z Se
% 000 0 0t L € 0 0 0 [4]8 4 9 QSIHN - ¥¢
% 000 0 TIT 99 144 1 0 14 LOT it 9L 174
% 000 0 ¥9 18 139 0 0 & 29 0z 44 €
% 000 0 60T £6 9T 0 0 6 00T £13 s9 asi -0z
% 000 0 st A 6 T 0 0 [l 4 01 1 0z
% 000 0 192 66T 29 0 0 LE vee 8¢ 981 QSIHN - LT
% 000 0 61 48 L 0 0 it 81 S &l LT
% 000 0 S S 0 0 0 0 S T 4 asp -9t
% 000 0 8¢ LLT 6t & 0 /4 122 99 1) ¢ 91
% 000 0 €ET 80T 174 T 0 11 (445 124 8L ¥1
% 000 0 [XAS 68 8¢ 0 0 14 €2l St 88 €T
% 000 0 69 85 11 0 0 T 89 9z 44 48
% 000 0 ort 61T 12 0 0 A €z 0z €01 ALD-ASDD - TT
g & g g 5 2 g 3
. 2 § § B 3 ,
LA R S - |
e B
8 NOILLISOdOYd SVYX3l 40 1LVL1S
% 000 = 88300 Z€ J0 91 abeq 6L0Z/6T/TT ajeq uny
Bunoday syoulnaly . BT0Z/S/TT Wd 8BV AWl uny
NOILD313 TVID3IdS ANV TvHINIO LNIOr UOI3|3 [BIBUAE) JBQUIBAON 6TOZ

1910/ paiaysiBay




% 000 0 L0T 86 6 0 0 1 96 o 0s aso - 11
% 000 0 1 T 0 0 0 0 1 1 0 M1 - 8
% 000 0 zs 74 S z 0 v 87 1 1 8
% 00'0 0 z8 L 1 0 0 6 £L 194 8v g
% 000 0 97z 191 29 £ 0 2 0z v8 0z1 SS - VP
% 000 0 9 £€ €1 0 0 9 o ooz 0z QSIHN - b
% 000 0 €8 65 vz 0 0 9 LL 9¢ 147 SS- ¥
% 000 0 SET €01 43 0 0 9 621 4% (8 b
% 000 0 zz 5 143 0 0 1 12 01 141 asIHN - VE
% 000 0 12! 1t 1€ £ 0 11 vET 8y 98 SS - VE
% 000 0 6 09 z€ £ 0 6 98 €€ £5 vE
% 000 0 65T S0T zs 4 0 91 £v1 89 st SS- €
% 000 0 St 0s 14 0 0 £ ZL 1€ 137 €
% 000 0 SET S0T o€ 0 0 Lz 80T vs s SS - VZ
% 000 0 s¢ Lz 8 0 0 1 vE 91 81 vz
% 000 0 99 6Y 91 1 0 €1 €S 62 vz SS -2
% 000 0 11 z8 62 0 0 01 10T 6v zs z
% 000 0 897 691 86 T 0 61 6YZ L0T vt SS - VT
% 000 0 0 0 0 0 0 0 0 0 0 M- T
% 000 0 SpT L1T 82 0 0 4 £€1 zs 18 55-1
% 000 0 z0z €51 vt S 0 6 €61 z8 11 1
=4 - m m
m ,m_ m M ,w w c m .m.. g JuPaid
= § & ¢ § & ‘§o8eF P
i § ¢ F % .5
& - a =3 5 o
® @ @ £
g B g
& L
m =
6 NOLLISOdOdd SYX3il 10 31V1S
% 000 = 8£ 40 0 7€ 40 LT 9bed 610Z/61/1T aleq uny
Gupoday syauiaalg 610Z/S/1T Wd 8K E awi uny
N0 O R NOLLD313 VID3dS ANY Tv¥INID LNIOf UO[19913 [£13UBD JBGUIBAON BTOZ

s19)0/ passysibay

$)NSaJ [P0 SVX3L '’ALNNOD SNDIdOH s)|nsay sseAue)




% 00°0 0 £89¢ 9ELT 0zZ6 LT 0 LEE 9pEE VBETL 7961 sjeyo)
% 000 0 11 6 Z 0 0 L 01 Z 8 M4T - 9¢
%000 0 €€t 06 v z 0 s 821 3 €L o
% 000 0 ZZ 91 9 0 0 1 1z S 91 asio - s¢
% 000 0 (Y4 13 148 0 0 4 114 Sz 0¢ T4
% 000 0 01 L £ 0 0 T 6 9 £ QSIHN - vZ
% 000 0 R 99 144 1 0 S 901 113 1L e
% 000 0 9 18 €1 0 0 € 19 0t 1€ £C
% 000 0 60T £6 91 0 0 £1 96 184 SS asin - 0z
% 000 0 44 [4 5 6 T 0 0 [44 i 8 0z
% 000 0 192 661 29 0 0 6 21z 98 9zZ1 ASIHN - LT
% 000 0 61 4 § L 0 0 v ST £ ZT LT
% 000 0 S S 0 0 0 T 14 & Z asp - 91
% 000 0 822 LLT (Y4 [ 0 11 L1 98 1¢€1 91
% 000 0 £E€T 80T vZ T 0 8 F 441 1874 18 vl
% 000 0 ik § 68 8¢ 0 0 L (1741 6t 18 £1
% 000 0 69 8% T 0 0 1 89 0z 8 1
% 000 0 ortl 61T 12 0 0 T4 STT Ly 89 ALID-QSDD - 11
et ] - m m b2 [ > Jouiald
g g £ s 1 g 0 ¢ g
g & @ g < 3 < H
o m. = o W b3 m
o = o 2 <
A < @ < © )
2 g g s g s
& = R 3 g
® @ g
g g g
o -
@ g
m -
6 NOLLISOdOYdd SVX3L 40 3LV1S
% 000 =8£J00 Z€1J0 8T abeq GL0Z/6T/TT aleq uny
Bunpoday syoupalg 6102/S/1T Wd B'E Wil uny
%000=040¢
00 O QU EE NOLLD313 VD3dS ANV Tv¥INIO LNIOf Uo99(3 [eiolsS MAIlBATKLETOR

SIS0A paiaysibay

§)Insa4 |eIYO SYX3l ‘ALNNOD SNDIdOH S)Nsay sseaue)




% 000 0 L0T 86 6 0 0 9 101 9 56 asp- 11
% 000 0 T 4 0 0 0 0 1 0 1 M41-8
% 000 0 Zt Sz S Z 0 Z 0€ 0 (013 8
% 000 0 Z8 1L TT 0 0 ¥ 8L Z 9L S
% 000 0 9z¢ T91 29 € 0 L 61C Zt L0z SS=Yv
% 000 0 14 £E ET 0 0 4 4% 14 o ASIHN - ¥
% 000 0 €8 6S vz 0 0 L 9L 9 0L S
% 000 0 GET £0T (43 0 0 & €ET e €T b
% 000 0 i A 1T 11 0 0 T | 4 0 174 QSIHN - VE
% 000 0 SP1 b 5 4 4 1t £ 0 L 8€T S €ET SS-vt
% 000 0 S6 09 43 £ 0 € Z6 1’4 88 YE
% 000 0 6ST S0t Zs 4 0 8 1sT S 91 SS-¢
% 000 0 SL 0s SZ 0 0 T YL € 1L £
% 000 0 QT S0T 0g 0 0 zZ €11 91 L6 SS-vZ
% 000 0 SE Lz 8 0 0 0 13 Z 113 vZ
% 000 0 99 6¥ 9T T 0 0T 95 9 0s 58T
% 000 0 111 Z8 62 0 0 3 80T £ S0T 4
% 000 0 892 691 86 ¥ 0 T4 95¢ {4 o (374 SS- V1
% 000 0 0 0 0 0 0 0 0 0 0 M- 1T
% 000 0 Svi LTT 214 0 0 L 8ET S £ET SS-1
% 000 0 0z £ST L2 S 0 S L6T 11 981 T
¥ - _
m ,m m W ,wn_.: w X — m ,m.. 3 PUPad
= & g ! § i | g B
A < & £ 3 )
e @ a g
g % 2
@ g
m -~
0T NOLLISOdO¥d SYX3L 40 3LV1S
%000 =8£J00 Z€ Jo 6T obed 6T0Z/6T/1T ajeq uny
Bupuodoy s1uPasd 610Z/S/1T Wd BYE awilL uny
HOLORO L5 5808 NOLLD313 VID3dS ANV Tv¥INID LNIOf AR E R ol o)

sagj0p pasoysibay
$)INSa4 RO - SYX3l ‘ALNNOD SNDIdOH s)nsay sseaue)




% 0070 0 £89€ 9€LZ 0Z6 LT 0 06T E6VE 6LT PIEE s|ejol
% 000 0 11 6 z 0 0 0 1 1 0t M47 - 9€
% 000 0 EEL 06 1874 Z 0 € 0€T 8 i 9t
% 000 0 (44 91 9 0 0 E 1z L 0z asio - se
% 000 0 (14 13 14} 0 0 13 9 (4 144 14
% 000 0 01 & € 0 0 T 6 Z L QSIHN - 2
% 000 0 1543 99 44 1 0 ] 901 3 €01 vz
% 000 0 ¥9 18 €1 0 0 Tk £9 & 95 4
% 000 0 601 €6 91 0 0 L 201 £ 66 asi - 0z
% 000 0 [44 4 6 1 0 0 44 ¥ 81 0z
% 000 0 19¢ 66T 29 0 0 IE 0€Z ST S1Z ASIHN - LT
% 000 0 6T z1 L 0 0 Z LT 1 91 Ll
% 000 0 S 5 0 0 0 T 4 0 14 asin - 91
% 000 0 82¢ LLT 6 & 0 9 [444 8 viZ 91
% 000 0 €ET 801 ¥ 1 0 9 Let S (44 4!
% 000 0 LEL 68 8t 0 0 1 91 S ¢ £l
% 000 0 69 85 (% 0 0 0 69 4 L9 4 !
% 000 0 ort 61T 14 0 0 €1 Lz & 0zt ALD-@SID - TT
- ] - m m [ =1 Ul
8 g 2 g & e g g g sl
—— - A a -
=] u o < 3 <
5 2 g 3 7 g
3 3 5 o g . §
2 < @ <2 @ s
g 2 £ s g £y
= 14 “n -+ == [f+]
o w s 5 9 W
] (=} @ '8
@ £ i
o) a g
2
0T NOLLISOdOdd SYX3l 40 31V1S
9000 = 8£JO 0 Z£ 40 0z 3bed 610Z/6T/1T ajeq uny
Buipioday s1oupalg 6102/S/1T Wd 8FE AL uny

% 000 = 040 £89¢
SIDj0A pasaysibay

s)|nseJ [ePYI0

NOILLD313 1VIDIdS ANV TVdINID LNIOS

SVYX3L ‘ALNNOD SNDIdOH

UDI128|3 |BIAUBD JAGUIBAON 6102

s}|nsay sseaue)



% 000 0 T (1] 4 0 0 T o [4 6 s|ejol
% 000 0 11 6 (4 0 0 0 1T (4 6 M4 - 9¢
% 000 0 1 T 0 0 0 T 0 0 0 M4 -8
% 000 0 0 0 0 0 0 0 0 0 0 MI1-T
- x - m m b = » Pudald
c Q H
3 & g 2 3 z B 3
2 3 ® g < 3 i s
...m W. 0“ (w) m.. % . m
a < @ g 3 s : B
3 8 g g 2 a ool m
@ - =4 8 S Ry
@ 3 @ £ i 9
g g & _,
4
Y NOLLISOdOdd 1OIYLSIA ALMLLN TVID3dS X404 V1
% 0010 = 8£400 Z€ Jo 12 abed 6T0Z/6T/TT s1eq uny
Buioday s1oupalg 610Z/S/TT Wd BY:£ AWl uny

% 000 = 0 JO £89¢

SINOA paidysiboy

s}|nsal [enyo

NOILD313 TVID3dS ANV TVH¥INIO LNIOf

SYX3il ‘ALNNOD SNDIdOH

uoII8|3 |BIBLUDD IDAWSAON 6T0Z

S)Nsay sseaue)



% 00°0 0 (49 ot z 0 0 9z ot z € H] s|ejol
% 000 0 Tt 6 v 0 0 4 01 z £ S M41 - 9€
% 000 0 1 ;7 0 0 0 £ 0 0 0 0 M4 -8
% 000 0 0 0 0 0 0 0 0 0 0 0 MA-T
e & § & & £ E I & F Pupsid
4 & ® g 5 7 : m g x ]
el - @) 0 ¥
g e g g 3 < w g g
o o o) < o -3 m
| o © o 3 =] M
g @ 4 g g = 3
® @ @ g &
g 9 5 .
g 5 -
2 g
m —
224y} 10 OM} ‘BU0 ‘auou 10} 230A - WYIL HVIA INO - HOLDO3WIA
% 00'0 = BE 40 0 Z€ Jo zz abed 610Z/6T/TT sjeq uny
Buioday sydupalg 6T0Z/S/1T Wd 8t:€ awif uny

% 000 = 0 jo £89¢

1IN0 paisysibay

$3|NsSa4 (B0

NOILD313 TVID3dS ANV TVY¥INIO LNIOIr

UOI}I3|3 [RIAUDS) JAGUIBAON 6T0Z

SYX3L ‘ALNNOD SNDIdOH

S}NSIY sseaur)




% 00°0 0 (44 0T z 0 0 L L [4 S s|elol
% 000 0 1 6 < 0 0 ST L Z S M4 - 9¢
% 000 0 I 1 0 0 0 Z 0 0 0 MA1-8
% 000 0 0 0 0 0 0 0 0 0 0 M- T
= o = m o pd c = o Jouidald
s § § & & g £ F 0§ 5
(=] 4 w o < 3 <
5 ® 1) 3 o 9 = =
= = 2 m
M W. Q m 5 < y
a < |l < o ) m.
3 g 0 5 g g
- | @ 2 F @
@ . 3 a e
pa =
gk e
@ &
0O %
2
OM]} 1O BUO ‘auoU 10} 3JOA - WHIL YVIA OML - HOLO3HId
% 000 =8£400 Z€ Jo £7 2beyg 610Z/6T/1T ajeqg uny
Buioday s1oupasg 6102/S/1T Wd BFE awiluny

% 000 = 040 £89¢

10 pauaysibay

s)|Nsa4 RO

NOILD3T13 TVID3dS ANV TVY¥IN3D LNIOf

SYX3il ‘ALNNOD SNDIdOH

uo1}3|3 |RIFUIS JBGUWIIAON BTOZ

s)nsay sseaue?)




% 00°0 0 43 ot [4 0 0 91 8 v 14 s|ejol
% 000 0 It 6 & 0 0 14" 8 14 4 M4 - 9¢
% 000 0 1 T 0 0 0 z 0 0 0 M3 -8
% 000 0 0 0 0 0 0 0 0 0 0 M- 1
el o = m m b = o J_udeldd
c [Y] .
€ & 8 a m. M
3 oy . m. ,W 8 <
s ] & 3 5} 3 ) Q
s 8 S g 5 a 8
g < @ 2 @ s m.
3 8 g 5 & g e, 3
W “ 43 = o
? H & g
=t =
g -y 2
@ g
e » :
a 3
OM} 10 3UO ‘auou 10j 30/ - WYIL ¥VIA 33¥HL - 4OLD3HId
% 000 =8£J00 Z€ 40 pz abed 610Z/61/1T ajeg uny
Bunsoday s3ouidalgd 610Z/S/TT Wd 8€ awi] uny

% 000 = 040 £89¢

SI0)0A patdysiboy

s}|nsad4 [0

NOILD3T3 TVID3dS ANV TVY¥INID LNIOf

uoI1I3|3 |EI2UDS) JIBGUIBAON 6T0Z

SYX3Ll ‘ALNNOD SNDIdOH S3|Nsay sseaue)




% 00°0 0 LZTT 9.8 ve (119 0 (41 SLIT 9z 116 s|ejo)
% 000 0 9zZZ 191 29 £ 0 11 ] ¢4 184 vLT SS-vb
% 000 0 £8 6S vz 0 0 Z 8 61 29 5S¢
% 000 0 SHT T1t 1€ £ 0 8 LET 44 56 SS - ¥YE
% 000 0 6ST S0t Zs Z 0 14 SST 62 91 SS-¢€
% 000 0 SET S0T 0t 0 0 9 621 8T 11T SS+¥Ye
% 000 0 99 6v 91 1 0 14 29 81 V44 S5 ~¢
% 000 0 89z 691 86 T 0 g SS¢ £9 261 SS-v1
% 000 0 Sl LTT 8¢ 0 0 14 1 143 L0T 5o =T
S & 2 g s - M <
H : g g s : 5 B o
® .wu o &
s % @ e
@ g i
m -
¥ NOLLISOdOYd SONIIdS ¥NHAINS 40 ALD
% 00°0 = 8€ 400 Z€ 40 57 abed 610Z/61/LT ajeq uny
Buuoday s1oualg 6T0Z/S/1T Wd B¥E awll] uny
200 0L ca0e NOLLD3T3 VID3dS ANV TV¥INIO LNIOf UOR28[3 (e18URD BALBAONIE10Z

sigon paimsibay

s3|nsal [eRo SYX3L ‘ALNNOD SNDIdOH S}|nsay sseAue)




6EE 0sZ 68 0 0 8VE 699 Ly 80T 1] oL 66 8L 1sT s|ejol
01 L € 0 0 9z 14 0 1 0 1 0 0 4 ASIHN - ¥
192 661 29 0 0 (A4 1339 9¢ 18 98 99 9L 1L 911 ASIHN - LT
9 £€ €1 0 0 95 Z8 8 €1 44 L €T S 174 ASIHN - ¢
4 11 1T 0 0 48 zs € €1 €1 e 01 z 6 ASIHN - V¢
5 m m b L = = o o) JuPald
g 3 5 & 3 g = : 3 ¥
o m W < b e m m f m 2 M
@ < © o . M &
7§ § £ & H :
ol g )
E @ g g
= =
c g :
& £
o a
22443 JO OM} ‘9UO ‘BUOU 10} BJOA - 3ILSNUL
% 000 = 8£40 0 Z€ 40 97 abed 610Z/6T/1T ajeq uny
Buioday soudald 610Z/S/1T Wd BFE all uny

% 000 = 0J° £89¢

sI9jo/) pauajsibay

s}|nseJ €Yo

NOILLD313 TVID3dS ANV TVdINID LNIOf

U0I128]3 |BIAUS) JBGWIBAON BTOZ

SYX3Ll ‘ALNNOD SNDIdOH

s}|nsay sseaue)




% 00°0 0

% 000 0

% 000 0

% 000 0

% 000 0
g g
3 S
g g
» g
g 5
3 &
& @
]

s|elo)
QSIHN - ¥
QSIHN - L1
QSIHN - ¥
QSIHN - V¢t
Jouidald

2244} 40 OM] ‘BUO ‘BUOU 10} JOA - JILISNUL

% 000 = 8€J0 0
Buipiodoy 510uAG

% 000 = 0 J0 £89¢

siaop pauaysibay

s3Nsaa [eDIYO

Z€ J0 L2 dbed
610Z/S/T1

NOILD373 TVID3dS ANV TVd3INID LNIOT

SYX3L ‘ALNNOD SNDIdOH

610¢/6T/TT
Nd B¢

eqg uny
awi] uny

UO1}23]3 |BIAUBE) JAQUIBAON 6T0Z

s3)|Nsay sseaue)



% 00°0 0 €8€E I€E - (4] 0 0 8 SLE Z61 €81 sjejo)
% 000 0 44 91 9 0 0 0 ez 0z Z as - sz
% 000 0 60T €6 9t 0 0 1 801 6% 65 asid - 0z
% 000 0 S S 0 0 0 0 S I ¥ asio -9t
% 00°0 0 opT 61T 1z 0 0 ¥ 9t1 69 L9 ALD-QSID - 1T
% 000 0 L0T 86 6 0 0 € 0T £ 15 asp- 11
: : g & ok e § 0§
g s % g & < A
3 7 g 5 g g
9 ¢ : 3 2 g
g g g
& e )
f i 5
Y NOILISOdOdd 1OIM.1SId TOOHDS LNIdN3d3IAaNI AgIAND
%000 =8£J00 7€ Jo gz abeyd BI0Z/6T/IT aleg uny
Buioday syounasg 610Z/S/TT Wd BIE AWl uny
% 0010 = 040 £89¢ NOILD313 TVID3dS ANV TVHINID LNIOr UOII3|T |RIPUIE) IBQUIBAON BTOZ

SI930A pasaisibay

53jnsa1 (2P0 SVYX3L ‘ALNNOD SNDIdOH snsay sseauey




% 00°0 orT 61T ) ¢ 4 0 0 T 6ET 89 L sjelo)
% 000 ot 6TT 12 0 0 T 6ET 89 1L ALID-QSDD - 1T
2UID24
g & B g 5 2 § b t
d g = o g 8 8 g !
3 < @ & @ W )
8 g 0 5 g 5
& a a = 3
2 a @ S
2 g
ﬁS.J -
8UO 10 dUOU 10§ 30N - HOAVIN
% 000 = 8£ 40 0 Z€ Jo 6Z abeyd 6T0Z/6T/TT sjequny
Guioday s1ouaag 6T0Z/S/TT Wd B¥E Wil uny
e bR NOILLD313 VID3dS ANV TV¥3INID LNIOf UO1>9(3 |&IAUIS JILIIAON BT02
1310 pasaysibay
$}NS21 [EPHO SYX3L ‘ALNNOD SNDIdOH s)|nsay sseaued)




% 00°0 ort 61T ¥4 0 0s 06 06 sjeiol
% 000 (1148 61T 1¢ 0 0s 06 06 ALD-ASD - 1T
— 2 = m m ot 0 Pupedd
c o H
: g : TR g T |
2 & ™ S < = : = o
= 2 o g 3 2 m.
g & g g £} < &
a < re :M (=] o 4 =]
3 & g g 2 5 ¢
& 5 5 ‘s
] « i W
& =
O R
w g
m a
U0 10 duUouU 104 330\ - € IDY1d - NYINHIATY
% 000 =8£4J00 Z€ Jo 0f 2bey 610Z/61/11 ajeq uny
Busoday s1ouaId 6T0Z/S/TT Wd 8F€ awrll uny

% 00°0 = 040 £89¢

51930/ padysiboy

S}NS34 [ePWIO

NOILD3T3 TVID3dS ANV TVdINID LNIOI

SYX3IL ‘ALNNOD SNDIdOH

U01133|3 |EIBUSS) JBCUIBACN 6TOZ

s} nsay sseaued



% 0070 ot 6TT 1z 0 929 vL vL s|e3o)
% 000 ovT 611 1z 0 99 vL vL ALD-ASD - 1T
.m._ ..um” m W W:. W { =t m M punald
2 3 £ s g 8 g z
e f EoaH RS g
§  §F 0 RO R J
® 3 & g
g % g
: g
)
9UO 10 dUou 10§ IOA - ¥ FDV1d - NVINHIATY
% 000 =8€J0Q Z€ Jo 1€ @beq 6L0Z/6T/1T ajeg uny
Bupioday s3audg 6102/S/11 Wd 8t SWwil] uny

% 00'0 = 040 £89¢
130 pasaysibay

$3|Nsa4 [eDYPO

NOILD3T3 TVID3dS ANV TVHINIO LNIOIM

SYX3Ll ‘ALNNOD SNDIdOH

UO1I9(3 |RIBUDE) JAGUIBAON BTOZ

53|Nsay sseaue)




% 000 ovtT 611 114 0 18 65 65 s|elol
% 000 ort 61T |14 0 18 65 65 ALID-ASDD - 11
= x = m ) > [t 0 3 PuRald
e c s
E g g ) 3 g 4 ¥
g & g g s 2 g z
ad 2 = o =3 ] 2 3
a < @ < @ s & m.
g g g g g &
{ = Aot 0
S =
@
: f
21
U0 10 duou 10§ 310N - § FDV1d - NYINHIATY
% 000 =8£400 Z€ Jo g abey 6T0Z/6T/TT |jeq uny
Buyuoday s1oupasg 6T0Z/S/TT Wd B¥ € AL uny

% 000 = 0 JO £89¢
SIN0A paiaysibay

s}jnsai [ePWO

NOILD313 1VID3dS ANV TVHYINID LNIOf

SYX3L ‘ALNNOD SNDIdOH

U0I123]3 |BIAUD) JAGUISAON BTOZ

S)|nsay sseaue)




